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5-1-50 5-1-55 5-1-18 5-1-23
100 450 3,600
3,900 10km
5-1-50
1 1 [ 1
) ) =+ )|/ >=100)
0.010 0.0010 0.0110 9.1 3,900
ppm 0.010 0.0008 0.0108 7.4 3,600
0.022 0.0013 0.0233 5.6 3,900
ppm 0.022 0.0010 0.0230 4.5 3,600
0.106 0.0004 0.1064 0.4 3,900
mg/m? 0.106 0.0003 0.1063 0.3 3,600
0.001 0.0006 0.0016 37.4 3,900
ppm 0.001 0.0005 0.0015 32.3 3,600
D 1.5m/s
5-1-51
1 1 [ 1
(@) ) =+ )|/ >=100)

0.010 0.0036 0.0136 26.6

ppm 0.010 0.0028 0.0128 22.1

0.010 0.0046 0.0146 31.4
ppm 0.010 0.0036 0.0136 26.5 100

0.065 0.0015 0.0665 2.2

mg/m? 0.065 0.0011 0.0661 1.7

0.0010 0.0022 0.0032 68.6

ppm 0.0010 0.0017 0.0027 63.0

A 0.7m/s
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5-1-52

1 1 [ 1
(@) ) =+ )|/ >=100)
0.010 0.0272 0.0372 73.1
ppm 0.010 0.0214 0.0314 68.1
0.010 0.0298 0.0398 74.9
ppm 0.010 0.0239 0.0339 70.5 450
0.065 0.0109 0.0759 14 .4
mg/m? 0.065 0.0085 0.0735 11.6
0.001 0.0163 0.0173 94.2
ppm 0.001 0.0128 0.0138 92.8
A 0.7m/s
5-1-53
1 1 [ 1
(@) ) (= + ) |C /7 >=100)
0.010 0.0293 0.0393 74.5
ppm 0.010 0.0215 0.0315 68.2
0.022 0.0317 0.0537 59.1
ppm 0.022 0.0240 0.0460 52.2 110
0.106 0.0117 0.1177 9.9
mg/m? 0.106 0.0086 0.1146 7.5
0.001 0.0176 0.0186 94.6
ppm 0.001 0.0129 0.0139 92.8
D 1.5m/s 100m
5-1-54
1 1 [ 1
(@) ) =+ )|/ >=100)
0.013 0.0077 0.0207 37.3
ppm 0.013 0.0054 0.0184 29.5
0.022 0.0094 0.0314 29.9
ppm 0.022 0.0067 0.0287 23.4 250
0.106 0.0029 0.1089 2.7
mg/m? 0.106 0.0021 0.1081 1.9
0.001 0.0046 0.0056 82.3
ppm 0.001 0.0033 0.0043 76.6
D 18.0m/s
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5 5-1 5-1-2 (@)
5-1-55
1 1 [ 1
) (D) (= +)](C /7 >100)
0.009 0.0066 0.0156 42.3
ppm 0.009 0.0065 0.0155 42.0
0.019 0.0081 0.0271 29.8
ppm 0.019 0.0080 0.0270 29.6 10kn 2
0.081 0.0026 0.0836 3.2
mg/m? 0.081 0.0026 0.0836 3.1
0.001 0.0040 0.0050 79.8
ppm 0.001 0.0039 0.0049 79.6
1 G 0.7m/s 150m
2 4km 10km
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0.0012 0.0012
0.0010 0.0010
< 0.0008 c 0.0008
Q. Q.
= 0.0006 = 0.0006
0.0004 0.0004
0.0002 / 0.0002 /
0.0000 0.0000
1 2 1 2
km km
0.0014 0.0014
0.0012 0.0012
_ 0.0010 _ 0.0010
£ 0.0008 £ 0.0008
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0.0004 0.0004
0.0002 0.0002
0.0000 - 0.0000
1 2 1 2
km km
0.0005 0.0005
0.0004 0.0004
$ 00003 $ 00003
1] 1]
0.0002 0.0002
0.0001 0.0001
0.0000 0.0000
1 2 1 2
km km
0.0004 0.0004
0.0003 - 0.0003
g S
= 0.0002 0.0002
0.0001 / 0.0001 //
0.0000 0.0000

km

km
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0.003 0.003
£ £
=0.002 =0.002
0.001 0.001 \\
0.000 0.000
1
km km
0.005 0.005
0.004 0.004
§ 0.003 § 0.003
0.002 0.002
0.001 0.001 \¥
0.000 0.000
1
km km
0.0015 0.0015
“£ 0.0010 “£ 0.0010
> >
e e
0.0005 0.0005
0.0000 0.0000
1 2 2
km km
0.0025 0.0025
0.0020 0.0020
E 0.0015 £ 0.0015
o o
0.0010 0.0010
0.0005 0.0005 \\\\§ﬁ-_—_7
0.0000 0.0000
1 2 2
km km
5-1-19

5-1-69




0.030 0.030
0.025 //\\ 0.025
£ 0020 / £ 0020 /’\\
<0015 / <0015 /
0.010 0.010 /
0.005 ¥M 0.005 J xﬁ
0.000 ‘ 0.000 :
1 2 3 4 0 1 2 3
km km
0.04 0.04
0.03 0.03
s |/ SN
0.02 0.02 /
0.01 \¥ 0.01 j x
0.00 : 0.00 : ‘
1 2 3 4 1 2 3
km km
0.015 0.015
“ 0.010 a e 0.010
S S
1] 1]
0.005 0.005 |
0.000 0.000
1 2 3 4 0 1 2 3
km km
0.020 0.020
0.015 //\\ 0.015
1S 1S
Q. Q.
=0.010 / =0.010 //\
0.005 k 0.005 J ¥
0.000 : 0.000 : ‘
1 2 3 4 0 1 2 3
km km
5-1-20

5-1-70




0.030 \ 0.030
0.025 0.025
= 0.020 = 0.020
oy g
0.015 0.015
0.010 0.010
0.005 0.005
0.000 0.000
0 2 2
km km
0.04 0.04
0.03 0.03
1S 1S
g g
0.02 0.02
0.01 0.01
0.00 0.00
0
km km
0.015 0.015
“e 0.010 “e 0.010
> >
1S 1S
0.005 0.005
0.000 0.000
0 2 2
km km
0.020 0.020
0.015 0.015
£ g
2 o
0.010 0.010
0.005 0.005
0.000 0.000
0 2 2
km km
5-1-21
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0010 0.010
0008 [ (\ 0.008 [
£ 0.006 { \ § 0.006
0.004 f 0.004 [(\
0.002 } 0.002 /
0.000 0.000
0 1 2 0 1 2
km km
0010 0.010
0.008 ,/\ 0.008
£ 0,006 £ 0.006 |
0004 | 0.004 |
0002 | 0002 |
0.000 0.000
0 1 2 0 1 2
km km
0.004 0.004
. 0003 | . 0003 |
£ £
3 >
£0002 | £0002 /\
0.001 J 0.001 j
0.000 0.000
0 1 2 0 1 2
km km
0.006 0.006
£ 0.004 A £ 0.004
0002 | 0.002 K
0.000 0.000 : :
0 1 2 0 1 2
km km
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0.008 0.008
0.006 0.006
1S 1S
g g
0.004 0.004
0002 / 0.002
0.000 0.000
0 2 4 8 10 2 10
km km
0.010 0.010
0.008 0.008
£0006 [ £ 0.006
o o
0.004 0.004
0.002 0.002
0.000 0.000
0 2 4 8 10 2 10
km km
0.004 0.004
_ 0003 f _ 0003
£ £
> >
€ 0.002 € 0.002
0001 | / 0.001
0.000 0.000
0 2 4 8 10 2 10
km km
0.005 0.005
0.004 0.004
£ 0.003 £ 0.003
o o
0.002 0.002
0.001 / 0.001
0.000 . 0.000
0 2 4 8 10 10
km km
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5-1-57

5-1-57

5-1
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(©)

30ppm
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5-1-58(1)

ppm
[ 1

0.00415 0.009 3.6
0.00309 0.007 2.9
0.00104 0.003 3.8
0.00309 0.007 2.9
0.00402 0.009 0.5
0.00477 0.010 16.1

300m
0.00414 0.009 3.4 0.04
0.00307 0.007 2.3
0.00104 0.003 3.8
0.00309 0.007 2.9
0.00402 0.009 0.5
0.00469 0.010 14.7

300m

5-1-58(2)
ppm

0.00420 0.011 4.8
0.00312 0.009 3.8
0.01406 0.032 0.4
0.00911 0.022 1.2
0.00903 0.021 0.3
0.00501 0.013 20.2

300m 0 04
0.00418 0.011 4.3 '
0.00310 0.009 3.2
0.01406 0.032 0.4
0.00912 0.022 1.3
0.00902 0.021 0.2
0.00491 0.013 18.5

300m
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5-1-58(3)
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[ 1]

.01228

.01417
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300m

.01447
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5-1-59

5-1-59(1)
ppm
1 [ 1
; 0.0110 9.1 3,900
1.5m/
nss 0.0108 7.4 3,600
. 0.0136 26.6
100
0.7m/s 0.0128 22.1
. 0.0372 73.1
450
0.7m/s 0.0314 68.1
0.1
D 0.0393 74.5
1.5m/s 110
100m 0.0315 68.2
D 0.0207 37.3
18.0m/s 250
0.0184 29.5
G 0.0156 42.3
0.7m/s 10km
150m 0.0155 42.0

4Kkm

5-1-78

10km




5-1-59(2)

ppm
1 [ 1
) 0.0233 5.6 3,900
1.5m/s 0.0230 4.5 3,600
. 0.0146 31.4
100
0.7m/s 0.0136 26.5
. 0.0398 74.9
450
7
0.7n/s 0.0339 70.5
0.1
D 0.0537 59.1
1.5m/s 110
100m 0.0460 52.2
D 0.0314 29.9
18.0m/s 250
0.0287 23.4
G 0.0271 29.8
0.7m/s 10km
150m 0.0270 29.6

4km

5-1-79

10km




5-1-59(3)

mg/m?
1 [ 1
; 0.1064 0.4 3,900
1.5m/s 0.1063 0.3 3,600
. 0.0665 2.2
100
0.7m/s 0.0661 1.7
. 0.0759 14.4
450
7
0.7m/s 0.0735 11.6
0.2
D 0.1177 9.9
1.5m/s 110
100m 0.1146 7.5
D 0.1089 2.7
18.0m/s 250
0.1081 1.9
G 0.0836 3.2
0.7m/s 10km
150m 0.0836 3.1

4km

5-1-80

10km




5-1-59(4)

ppm
1 [ 1
) 0.0016 37.4 3,900
1.5m/s 0.0015 32.3 3,600
. 0.0032 68.6
100
0.7n/s 0.0027 63.0
. 0.0173 94.2
450
0.7n/s 0.0138 92.8
0.02
D 0.0186 94.6
1.5m/s 110
100m 0.0139 92.8
D 0.0056 82.3
18.0m/s 250
0.0043 76.6
G 0.0050 79.8
0.7m/s 10km
150m 0.0049 79.6

4km

5-1-81

10km






